

## Grammian $N$ -soliton solutions of a coupled KdV system

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2001 J. Phys. A: Math. Gen. 34 L721

(<http://iopscience.iop.org/0305-4470/34/49/106>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.101

The article was downloaded on 02/06/2010 at 09:47

Please note that [terms and conditions apply](#).

## LETTER TO THE EDITOR

**Grammian  $N$ -soliton solutions of a coupled KdV system****C Verhoeven and M Musette**

Dienst Theoretische Natuurkunde, Vrije Universiteit Brussel, Pleinlaan 2, B-1050 Brussels, Belgium

Received 18 October 2001

Published 30 November 2001

Online at [stacks.iop.org/JPhysA/34/L721](http://stacks.iop.org/JPhysA/34/L721)**Abstract**

From the Lax pair and the binary Darboux transformation of a coupled Korteweg–de Vries system, we show that its nonlinear superposition formula is identical to that obtained for the Kaup–Kupershmidt equation. Therefore, the  $N$ -soliton solution can be associated with a determinant of the Gram type.

PACS numbers: 02.30.Jr, 02.30.Ik, 02.30.Uu

**1. Introduction**

In [1], Karasu and Sakovich performed the Painlevé analysis of the system of two coupled nonlinear evolution equations of Korteweg–de Vries (KdV) type

$$u_t - \frac{a}{4}u_{xxx} - buu_x - \frac{9a^2h}{4b}v_x = 0 \quad v_t + \frac{a}{2}v_{xxx} + buv_x = 0 \quad (1)$$

$a, b, h$  constants  $\neq 0$

which, in setting  $u = \frac{3a}{b}w_x$  and eliminating  $v$ , is equivalent to the sixth-order equation

$$\frac{4}{3a}w_{tt} + \frac{1}{3}w_{xxx}t - \frac{a}{6}w_{xxxxxx} - 3aw_xw_{xxxx} - 6aw_{xx}w_{xxx} - 12aw_x^2w_{xx} = 0. \quad (2)$$

They showed that the equation passes the Painlevé test, and using the truncation method of Weiss *et al* [2] derived a Bäcklund transformation (BT). Then they built special solutions generated by this transformation from the vacuum  $w = 0$ .

The system (1) was found by Satsuma and Hirota [5] as a special case of the four-reduction of the KP hierarchy; more precisely, it is the system numbered in their paper as (4.18a), (4.18b). (It was also proposed by Drinfel'd and Sokolov [3] and Bogoyavlenskii [4].) Moreover, Satsuma and Hirota gave for (1) the expression of the one-soliton

$$u = \frac{3a}{b}w_x \quad w = \partial_x \log f \quad v = \frac{1}{h} \left( \frac{4}{3a}w_t - \frac{1}{3}w_{xxx} - 2w_x^2 \right) \quad (3)$$

$$f = 1 + 2e^\theta + \frac{1}{2}e^{2\theta} \quad \theta = \kappa x - \frac{a}{2}\kappa^3 t + \delta \quad \kappa \text{ and } \delta \text{ arbitrary constants} \quad (4)$$

as well as the fourth-order Lax pair

$$\frac{\partial \psi}{\partial t} = \left( a \partial_x^3 + bu \partial_x + \frac{b}{2} u_x \right) \psi \quad (5)$$

$$\lambda^4 \psi \left( \partial_x^4 + \frac{4b}{3a} u \partial_x^2 + \frac{4b}{3a} u_x \partial_x + \frac{2b}{3a} u_{xx} + \frac{4b^2}{9a^2} u^2 + hv \right) \psi = \lambda^4 \psi. \quad (6)$$

In their paper, Karasu and Sakovich noticed that their BT is probably not the simplest one for the system (1) for the reason that they apparently could not recover the expression (4) of the one-soliton solution.

In this Letter we show that by considering the Darboux transformation (DT)

$$w = \partial_x \log f + W \quad \text{with} \quad f = \int^x \psi^2 dx \quad (7)$$

where  $w$  and  $W$  are two solutions of (2) and  $\psi$  a solution of the Lax pair (5), (6), eliminating  $\psi$  between the DT and the Lax pair, we obtain the same BT as Karasu and Sakovich. Furthermore, remarking that one of the two equations determining the BT can be associated with the Gambier 25 equation [6], as we did previously [7, 8] for the Kaup–Kupershmidt partial differential equation, we easily derive the nonlinear superposition formula (NLSF) for equation (2) and show that the  $N$ -soliton solution is related to the logarithmic derivative of a determinant of the Gram type, as introduced by Nakamura [9] for the KP equation.

We also show that the rational solutions given by Karasu and Sakovich are trivially retrieved by setting in (5), (6)  $u = v = 0$  and  $\lambda = 0$ , taking account of the DT (7), and that for  $\lambda \neq 0$  their last solution corresponds to the one-soliton solution (4) if one makes an appropriate choice of the constants of integration.

Finally, we indicate the construction of the  $N$ -soliton solution and give the explicit expression of the two-soliton.

## 2. Bäcklund transformation and nonlinear superposition formula

The elimination of  $\psi$  between the DT (7) and the Lax pair (5), (6), taking into account that (5) possesses the first integral

$$\int^x (\psi^2)_t dx = 2a \psi \psi_{xx} - a \psi_x^2 + bu \psi^2 \quad (8)$$

yields the BT

$$p_t = a \left( p_{xx} - \frac{3}{4} \frac{p_x^2}{p} + \frac{3}{2} p p_x + 3p W_x + \frac{1}{4} p^3 \right)_x \quad p = w - W \quad (9)$$

$$\begin{aligned} & \frac{1}{2} p_{xxxx} + \frac{5}{3} W_{xxx} p - \frac{p_x p_{xxx}}{p} + \frac{3}{2} p p_{xxx} + 2p_x W_{xx} + 2p^2 W_{xx} - \frac{3}{4} \frac{p_{xx}^2}{p} + 2W_x p_{xx} \\ & + \frac{9}{4} \frac{p_x^2 p_{xx}}{p^2} + p_x p_{xx} + \frac{7}{4} p^2 p_{xx} + 2p W_x^2 - \frac{p_x^2 W_x}{p} + 4p p_x W_x + p^3 W_x \\ & - \frac{15}{16} \frac{p_x^4}{p^3} + \frac{15}{8} p p_x^2 + p^3 p_x + \frac{4}{3a} p W_t + \frac{1}{16} p^5 = \lambda^4 p \end{aligned} \quad (10)$$

and if one uses (9) to eliminate the highest derivative in (10), we obtain exactly the same BT as Karasu and Sakovich.

Now, let us remark that the integral of the right-hand side of equation (9) can be identified with the nonlinear ordinary differential equation G25 of the Gambier classification [6], possessing the Painlevé property and already associated with the BT of the Kaup–Kupershmidt

equation in [7]. Therefore, considering four copies of the equation (9) for  $p = w_{12} - w_2, w_{12} - w_1, w_2 - w_0, w_1 - w_0$ , i.e.

$$\begin{aligned}
 (w_{12} - w_2)_t &= a \left( (w_{12} - w_2)_{xx} - \frac{3}{4} \frac{(w_{12} - w_2)_x^2}{(w_{12} - w_2)} + \frac{3}{2} (w_{12} - w_2)(w_{12} - w_2)_x \right. \\
 &\quad \left. + 3(w_{12} - w_2)w_{2,x} + \frac{1}{4}(w_{12} - w_2)^3 \right)_x \\
 (w_{12} - w_1)_t &= a \left( (w_{12} - w_1)_{xx} - \frac{3}{4} \frac{(w_{12} - w_1)_x^2}{(w_{12} - w_1)} + \frac{3}{2} (w_{12} - w_1)(w_{12} - w_1)_x \right. \\
 &\quad \left. + 3(w_{12} - w_1)w_{1,x} + \frac{1}{4}(w_{12} - w_1)^3 \right)_x \\
 (w_2 - w_0)_t &= a \left( (w_2 - w_0)_{xx} - \frac{3}{4} \frac{(w_2 - w_0)_x^2}{(w_2 - w_0)} + \frac{3}{2} (w_2 - w_0)(w_2 - w_0)_x \right. \\
 &\quad \left. + 3(w_2 - w_0)w_{0,x} + \frac{1}{4}(w_2 - w_0)^3 \right)_x \\
 (w_1 - w_0)_t &= a \left( (w_1 - w_0)_{xx} - \frac{3}{4} \frac{(w_1 - w_0)_x^2}{(w_1 - w_0)} + \frac{3}{2} (w_1 - w_0)(w_1 - w_0)_x \right. \\
 &\quad \left. + 3(w_1 - w_0)w_{0,x} + \frac{1}{4}(w_1 - w_0)^3 \right)_x
 \end{aligned}$$

and making the combination which eliminates the linear terms, we can integrate once with respect to  $x$  and obtain the first-order, second-degree ordinary differential equation:

$$(w_{12,x} + w_{12}^2 - Aw_{12} + 2B)^2 - \frac{C^2(w_{12} - w_1)(w_{12} - w_2)}{(w_1 - w_0)(w_2 - w_0)} = \frac{4}{3} K \frac{(w_{12} - w_1)(w_{12} - w_2)}{w_2 - w_1} \tag{11}$$

with coefficients

$$A = (w_1 + w_2) + \frac{w_{2,x} - w_{1,x}}{w_2 - w_1} \quad B = \frac{1}{2} w_1 w_2 + \frac{w_{2,x} w_1 - w_{1,x} w_2}{2(w_2 - w_1)} \tag{12}$$

$$C = w_{0,x} + w_0^2 - Aw_0 + 2B \tag{13}$$

where  $K$  is a constant of integration.

Setting  $K = 0, w_i = \partial_x \log f_i, i = 0, 1, 2, 12$  and defining

$$F_{12} = \frac{f_{12}}{f_0} \quad F_2 = \frac{f_2}{f_0} \quad F_1 = \frac{f_1}{f_0} \tag{14}$$

we obtain the third-order linear equation for  $F_{12}$

$$\begin{aligned}
 F_{12,xxx} - \left( D \frac{(F_1 F_2)_x}{F_{1,x} F_{2,x}} + \frac{F_{1,x} F_{2,xxx} - F_{2,x} F_{1,xxx}}{F_{1,x} F_{2,xx} - F_{2,x} F_{1,xx}} \right) F_{12,xx} \\
 + \left( D \frac{F_1 F_{2,xx} + F_2 F_{1,xx}}{F_{1,x} F_{2,x}} + \frac{F_{1,xx} F_{2,xxx} - F_{2,xx} F_{1,xxx}}{F_{1,x} F_{2,xx} - F_{2,x} F_{1,xx}} \right) F_{12,x} = 0
 \end{aligned} \tag{15}$$

$$D = \frac{W(F_{2,x}, F_{1,x})}{2 W(F_2, F_1)} \quad \text{with} \quad W(a, b) = a_x b - a b_x \tag{16}$$

which possesses the general solution

$$F_{12} = K_1(t) + K_2(t)R_{12} + K_3(t)(F_1 F_2 - R_{12}^2) \tag{17}$$

$$R_{12} = \int^x \sqrt{F_{1,x} F_{2,x}} dx. \tag{18}$$

Setting  $K_1 = K_2 = 0$  and taking account of the definitions (14) and (7), the NLSF for (2) is

$$f_{12} = f_0 \begin{vmatrix} \int^x \psi_1^2 & \int^x \psi_1 \psi_2 \\ \int^x \psi_1 \psi_2 & \int^x \psi_2^2 \end{vmatrix} \quad (19)$$

which is exactly the same expression as the NLSF for the Kaup–Kupershmidt equation [8]. Therefore, taking into account for the construction of the  $N$ -soliton solution that the seed solution is  $f_0 = 1$ , one may iterate the formula (19) [10] and obtain the  $N$ -soliton solution:

$$f^{(N)} = \det \left[ \int^x \psi_i \psi_j dx \right]_{1 \leq i, j \leq N} \quad (20)$$

where  $\psi_i$  is the vacuum wavefunction, solution of the system (5), (6) for  $v = u = 0$ ,  $\lambda = \lambda_i$ .

### 3. Construction of the $N$ -soliton

For  $\lambda = 0$ , the vacuum wavefunction  $\psi_0$  is a third-degree polynomial in  $x$

$$\psi_0 = c_1 x^3 + c_2 x^2 + c_3 x + 6a c_1 t + c_4 \quad (21)$$

and following the values given to the arbitrary constants  $c_1, c_2, c_3, c_4$  one easily generates with the DT (7), setting  $W = 0$ , the solutions numbered (9)–(12) in the paper of Karasu and Sakovich corresponding respectively to the choice of parameters  $c_i$ :  $c_1 = c_2 = c_3 = 0$ ,  $c_1 = c_2 = c_4 = 0$ ,  $c_1 = c_3 = 0$ ,  $c_2 = c_4 = 0$ .

For  $\lambda \neq 0$ , the vacuum wavefunction  $\psi_k$  is a superposition of four exponentials:

$$\psi_k = A_k e^{\lambda_k x + a \lambda_k^3 t} + B_k e^{-\lambda_k x - a \lambda_k^3 t} + C_k e^{i \lambda_k x - i a \lambda_k^3 t} + D_k e^{-i \lambda_k x + i a \lambda_k^3 t} \quad i^2 = -1 \quad (22)$$

and one has that

$$\begin{aligned} f_k = \int^x \psi_k^2 dx &= \frac{A_k^2}{2\lambda_k} e^{-2(\lambda_k x + a \lambda_k^3 t)} - \frac{B_k^2}{2\lambda_k} e^{-2(\lambda_k x + a \lambda_k^3 t)} - \frac{i C_k^2}{2\lambda_k} e^{2i(\lambda_k x - a \lambda_k^3 t)} + \frac{i D_k^2}{2\lambda_k} e^{-2i(\lambda_k x - a \lambda_k^3 t)} \\ &+ \frac{(1-i) A_k C_k}{\lambda_k} e^{(1+i)\lambda_k x + (1-i)a \lambda_k^3 t} + \frac{(1+i) A_k D_k}{\lambda_k} e^{(1-i)\lambda_k x + (1+i)a \lambda_k^3 t} \\ &- \frac{(1+i) B_k C_k}{\lambda_k} e^{-(1-i)\lambda_k x - (1+i)a \lambda_k^3 t} - \frac{(1-i) B_k D_k}{\lambda_k} e^{-(1+i)\lambda_k x - (1-i)a \lambda_k^3 t} \\ &+ 2(A_k B_k + C_k D_k)x + 6a \lambda_k^2 (A_k B_k - C_k D_k)t \end{aligned} \quad (23)$$

which yields the solution (13) in the paper of Karasu and Sakovich. To build the  $N$ -soliton solution, one considers the particular case

$$A_k = C_k = 0. \quad (24)$$

We first derive the expression of the one-soliton solution. Setting  $\lambda_k \equiv \lambda$ ,  $B_k \equiv B$ ,  $D_k \equiv D$  in (23), we have

$$f = -\frac{B^2}{2\lambda} e^{-2(\lambda x + a \lambda^3 t)} \left( 1 - \frac{i D^2}{B^2} e^{2(1-i)\lambda x + 2a(1+i)\lambda^3 t} + \frac{4D}{(1+i)B} e^{(1-i)\lambda x + a(1+i)\lambda^3 t} \right). \quad (25)$$

Therefore, up to an exponential linear in  $x$  and  $t$  one has that

$$f = 1 + 2e^\theta + \frac{1}{2}e^{2\theta} \quad \theta = \kappa x - \frac{a}{2}\kappa^3 t + \delta \quad \delta = \log \frac{2D}{(1+i)B} \quad \kappa = (1-i)\lambda. \quad (26)$$

Using the expression (22) and the relation (19) for  $k = 1, 2$  in the formula (24), one obtains for the two-soliton solution

$$\begin{aligned}
 f_{12} = & 1 + 2e^{\theta_1} + 2e^{\theta_2} + \frac{1}{2}e^{2\theta_1} + \frac{1}{2}e^{2\theta_2} + \frac{4(\kappa_1^4 + \kappa_2^4)}{(\kappa_1 + \kappa_2)^2(\kappa_1^2 + \kappa_2^2)}e^{\theta_1 + \theta_2} \\
 & + \frac{(\kappa_1 - \kappa_2)^2}{(\kappa_1 + \kappa_2)^2}(e^{2\theta_1 + \theta_2} + e^{\theta_1 + 2\theta_2}) + \frac{(\kappa_1 - \kappa_2)^4}{4(\kappa_1 + \kappa_2)^4}e^{2(\theta_1 + \theta_2)} \\
 \theta_j = & \kappa_j - \frac{a}{2}\kappa_j^3 t + \delta_j \quad \delta_j = \frac{C_j(1+i)(-i\kappa_j + \kappa_l)(\kappa_j + \kappa_l)}{B_j(\kappa_j - \kappa_l)(\kappa_j - i\kappa_l)} \\
 & 1 \leq j, l \leq 2 \quad l \neq j \quad \kappa_j = (1-i)\lambda_j.
 \end{aligned} \tag{27}$$

To build the  $N$ -soliton solution, we set (24) in (20) for  $1 \leq j, l \leq N$ .

The authors acknowledge the financial support extended within the framework of the IUAP contract P4/08 funded by the Belgian government. CV is a Research Assistant of the Fund for Scientific Research—Flanders.

## References

- [1] Karasu A and Sakovich S Yu 2001 Bäcklund transformation and special solutions for the Drinfeld–Sokolov–Satsuma–Hirota system of coupled equations *J. Phys. A: Math. Gen.* **34** 7355–8
- [2] Weiss J, Tabor M and Carnevale G 1983 The Painlevé property for partial differential equations *J. Math. Phys.* **24** 522–6
- [3] Drinfel'd V G and Sokolov V V 1981 Equations of Korteweg–de Vries type and simple Lie algebras *Sov. Math.–Dokl.* **23** 457–62
- [4] Bogoyavlenskii O I 1990 Breaking solitons in 2 + 1-dimensional integrable equations *Russ. Math. Surv.* **45** 1–86
- [5] Satsuma J and Hirota R 1982 A coupled KdV equations is one case of the four-reduction of the KP hierarchy *J. Phys. Soc. Japan* **51** 3390–7
- [6] Gambier B 1910 Sur les équations différentielles du second ordre et du premier degré dont l'intégrale générale est à points critiques fixes *Acta Math.* **33** 1–55
- [7] Musette M and Conte R 1998 Bäcklund transformation of partial differential equations from the Painlevé–Gambier classification, I. Kaup–Kupershmidt equation *J. Math. Phys.* **39** 5617–30
- [8] Musette M and Verhoeven C 2000 Nonlinear superposition formula for the Kaup–Kupershmidt partial differential equation *Physica D* **144** 211–20
- [9] Nakamura A 1989 A bilinear  $N$ -soliton formula for the KP equation *J. Phys. Soc. Japan* **58** 412–22
- [10] Verhoeven C and Musette M 2001 Extended soliton solution for the Kaup–Kupershmidt equation *J. Phys. A: Math. Gen.* **34** 2515–23